n ack We promise you're going to have a great experience.

smllllﬂlls Baldly?eative Expert Customer Service Focus On Quality Ships Same Day

1U Sliding Shelf Rail Kit
for Dell Precision 3680
Tower Workstation

Installation Instructions

Kit P/N: 112-9128

RackSolutions.com If we can’t mount it, no one can.



Kit Contents

Kit Contents: Bracket Hardware:
(1) Shelf (4) #10-32 Keps Nuts
(1) Front Bracket
(1) Rear Bracket

Installation Instructions

Step 1 Attach Front Bracket: _Align the holes in the Front Bracket with the Shelf Studs. Use 2
#10-32 Keps Nuts to secure it to the Shelf, but do not fully tighten.

#10-32 Keps Nuts

Front Bracket

Step 2 Position PC: _Place the PC on the Shelf and carefully position it so the Front Bracket
interlocks with the front bezel. Fully tighten the #10-32 Keps Nuts.

PC
Front
Bracket
\
/
Page 2 #10-32 Keps Nuts

RackSolutions.com If we can’t mount it, no one can.



Installation Instructions

Step 3 Attach Rear Bracket:  Place the Rear Bracket in the |0 cutout with the foam in contact
with the PC, making sure to align the Shelf studs to the Rear Bracket slots. Push the
Rear Bracket against the PC to compress the foam on both the Rear Bracket and the
Front Bracket. Use (2) #10-32 Keps Nuts to secure it to the shelf.

Rear Bracket

#10-32 Keps Nuts

Shelf Studs

Step 4 Install Shelf/PC Assembly: _ Install the TUKIT-109 per the instructions
supplied in the 109 Kit. Slide shelf into Kit TUKIT-109 as shown and fasten the
(2) captive hardware to secure shelf in place

PC

1UKIT-109
Shown for
reference

4 Post

Shown for reference
Captive Hardware

Page 3

RackSolutions.com If we can’t mount it, no one can.



snlllllﬂlls Baldlya'eative Expert Customer Service Focus On Quality Ships Same Day

n a ck We promise you're going to have a great experience.

You're going to @@ working with us
Global company - small town service

On-Site Manufacturing
: Our._manufacturing facility is on-site at our
electrical engmeers are ava Texas headquarters. If we send them a drawing.

your toughest custom design challe in&@e morning,“we can have- parts-ready to
- - ==1S ship-out that evening.

i R : Advantage
anda ways growing‘ Customer support, engineering, and logistics are

Our distribution centers are packed. Check our standing by to get you whatever answers you
website to see if your solution is ready and need. Even if that means walking down and

waiting. Our availability is shown in real time. asking the guy who made it for you.

Warranty Statement

Innovation First, Inc. warrants our products against defects in material and workmanship for a
period of one (1) year from the date of purchase. Innovation First, Inc. liability shall be limited to
repairing or replacing, at our option, any defective product.

RackSolutions.com If we can’t mount it, no one can.



